(RN
<

8 [ 5 : ;
= E -
S My o T :
o - ot : :
o | B ; :
10°Ef e
s ; ; T il
102 Er e 81 R e 9 5 E

sk Ee g 1072 e
S SN AT A AR A AR ol_é:]...'f..'..i]'.. LA AR AR
% [ 1 L EH | T 4T % 115—- P[4 al i alg|od . 4| e
04 § sadik ks o E i (T TS d

il El[L] ? ! ; [ Hp (1T

it : i SR e e s e BT e

0.8-— . q 1 W 0.9;— q | nille N E-:1 H 1 ﬂ
C : : L L 0.8t : : L ; L
-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
v %lk%lltldlsrgle (10dar-| ”s%bjl_eﬁel\]/vewe COTIT
;@ le_ste Zn‘ﬁt rarrg 5aesle%1 eom
e‘rgPE nerlcpstepz ttbargpﬁasel -newgeom

- -~ 1
1] e i
(5] O
S s
= =
S o>
o )
9 =
5 ©

1074 107

9 |||!||||!||||!|||| .910:‘%::::!::: } )
i i L [ [ i el 1] [L b
4 s iwdlitl (e e TR TR e g
ﬁ i i m oo (1A T i :i
i b 1 : :
o8

0 1 2 3 =3 -2 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

a0 p,/p,)

Ratio
P

LAY RSN LLLRN LLAL)

2 1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


